

$$1 : 3 = \frac{1}{3}, 2 : 3 = \frac{2}{3}, 10 : 3 = \frac{10}{3} \text{ и т. нат.}$$

$$2 + \frac{1}{3} = 2\frac{1}{3}, 8 + 4\frac{1}{3} = 12\frac{1}{3}, 5\frac{1}{3} + 4\frac{1}{3} = 9\frac{2}{3},$$

$$17\frac{2}{3} + 17\frac{1}{3} = 35, 17\frac{2}{3} + 17\frac{2}{3} = 35\frac{1}{3} \text{ и пр.}$$

$$1 \times \frac{1}{3} = \frac{1}{3}, 9 \times \frac{1}{3} = \frac{9}{3} = 3, 14 \times \frac{1}{3} = \frac{14}{3} =$$

$$4\frac{2}{3} \text{ и пр.}$$

$$1 \times \frac{2}{3} = \frac{2}{3}, 9 \times \frac{2}{3} = \frac{18}{3} = 6, 14 \times \frac{2}{3} = \frac{28}{3} = 9\frac{1}{3},$$

$$10 \times \frac{2}{3} = \frac{20}{3} = 6\frac{2}{3} \text{ и пр.}$$

$$3 \times 1\frac{1}{3} = \frac{12}{3} = 4 \text{ (} 3 \times 1 + 3 \times \frac{1}{3}, \text{ или } 3 \times 1\frac{1}{3} =$$

$$3 \times \frac{4}{3} = 4), 9 \times 1\frac{1}{3} = 12.$$

$$3 \times 1\frac{2}{3} = 5, 5 \times 1\frac{2}{3} = 8\frac{1}{3} \text{ и пр.}$$

$$\text{Когато } \frac{1}{3} \times 1 = \frac{1}{3}, \text{ то } \frac{1}{3} \times 2 = \frac{2}{3}, \frac{1}{3} \times 4 = \frac{4}{3},$$

$$\frac{1}{3} \times 10 = \frac{10}{3} \text{ и пр.}$$

$$\frac{2}{3} \times 1 = \frac{2}{3}, \frac{2}{3} \times 2 = \frac{4}{3}, \frac{2}{3} \times 9 = 6 \text{ и пр.}$$

$$1 - \frac{1}{3} = \frac{2}{3}, 2 - \frac{1}{3} = 1\frac{2}{3} \text{ и пр.}$$

$$1 - \frac{2}{3} = \frac{1}{3}, 2 - \frac{2}{3} = \frac{4}{3} = 1\frac{1}{3} \text{ и пр.}$$

$$2 - 1\frac{1}{3} = \frac{2}{3}.$$

$$7\frac{2}{3} - 4\frac{1}{3} = 3\frac{1}{3}.$$

$$7\frac{1}{3} - 4\frac{2}{3} \times 2\frac{2}{3} \text{ (} 7 - 4\frac{2}{3} + \frac{1}{3}, \text{ или } 7\frac{1}{3} - 4 -$$

$$\frac{2}{3} =).$$

$$1 : \frac{1}{3} = 3, 2 : \frac{1}{3} = 6, 3 : \frac{1}{3} = 9, 14 : \frac{1}{3} = 42.$$

$$1 : \frac{2}{3} = \frac{3}{2}, 6 : \frac{2}{3} = 9 \text{ (} 6 : \frac{1}{3} = 18, 6 : \frac{2}{3} = 1\frac{8}{2}).$$

$$1 : \frac{2}{3} = \frac{3}{3} : \frac{2}{3} = \frac{9}{6} = 3 : 2 = \frac{3}{2}$$

$$4\frac{2}{3} : 2\frac{1}{3} = 2 \text{ (} \frac{14}{3} : \frac{7}{3} = \frac{14}{7} = 2).$$

$$20 : 6\frac{2}{3} = \frac{60}{3} : \frac{20}{3} = 60 : 20 = 3.$$

Сравни 1 съ $\frac{1}{3}$!

$$\frac{1}{3} = 1 - \frac{2}{3}, 1 = \frac{1}{3} + \frac{2}{3}.$$

$$\frac{1}{3} = \frac{1}{3} \times 1, 1 = 3 \times \frac{1}{3}.$$

Сравни $\frac{2}{3}$ съ 1!

$$\frac{2}{3} = 1\frac{1}{3}, 1 = \frac{2}{3} + \frac{1}{3}$$